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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDuS triangle lightnesst*

t* Yoc=Yw - nc=100,

t*LaBINDUs =IN(A 1ntA2nY)/(ArAon)  (Ynd/100<Y<=Y, ()
L ABINDUB=IN(A 1+ A2X)/(AgAon)  (X=YTYy)
1 (3,6)=218 1" ,(18)=496 t*y (90)=772

log[t*/t* ]=0, m,=0,33
L* =49, t* ;=49

* 1
t*90=771,96, Ay=1 ;Agu:0,0GQ,Q, 0,67
t*15=4¢5,86, A=0 M1, A,=0,0038 .
t*36=218,08 t*,=4 5.',85 Y=18 : ?al\ar%lganon

LABJINDu8
tristimulus value difference
YoemYw  nc=100,

L AgINDUs=IN(A 17 A2 Y)(A2rAon)  (Yad/100<Y<=Y,o)
L AgaNDu=IN(A 10 A2 (A2iAon) - (X=YTY)
dY:AOn(A1n+A2nY):A0n(A1n+A2uX) XZY/Yu
Aonpss=L5, Aona=1,0, see CIE 230:2019

‘0

.
7,496 dY,=0,12 dY,/r,=0 J067 o ¢
.

logffn=0.42 W% Ao =5 #809) 620,67 m = m =
dY;g=0.1Z, A ~0,01%, #=0,0088 ?;ﬁé'ga“on
dY36=0,05 Y,=1¢, BY=0,12 1

T

xN=0,2 Xw=5

log (AY/Y) LABJINDUS

_ tristimulus value sensitivity
SEERY) Yoc=Yw © nc=100

L AgINDUs=IN(A 17 A2 Y (A2rAon) - (Yad/100<Y<=Yoo)
L AgaNDu=IN(A 10t A2X)(A2iAon) - (X=YTY)
AYIY=Aor(A gy Ao Y)Y =Ag (At AsX)/Y
(AY/Y3g=0,06U, A5, A =0,0699, ¢=0,67
(dY/Y)g=0.00C7 Ay=0,011, A4,=0,0038
(dY/Y} £=0,0108 Yy=i3, V-0 12

log(dY/Y)E-2,16 ~5 * application
o 2,16 m=-0,M
g(dY/Y) my Taaaw e
t*,=496 dY,=0,12, dY,/Y,=0,0067 1

1

ot

xN=0,2 Xw=5

log (Y/AY) LABJINDu8

tristimulus value contrast

Yoc=Yw nc=100

L AgaNDus=IN(A 17 A2 Y (A2rAon)  (Yad/100<Y<=Y,o)

tLaBINDUs =IN(A 10t A2 )/(AoAon)  (X=YTYY)

YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]
(Y/dY}5=166,14, Ay=1,5, Ay =0,0699, ¢=0,67
(Y/dY)g=147.53, A=0,011, A4,~0,0038

YY) 94,56 Y,=18 dY=0,12
t u(:4ga %%:0,12 Wu/dYuziﬁu

C,=(Y/AY)

application
range

e LABJNDuS relative triangle lightnesst*/t*,

e, Yoc=Yw - nc=100,

t*LaABINDUB=IN(A 1n+A20Y)/(A2rAon)  (Ynd/100<Y<=Y,()
1 ABINDUs=IN(A 10+ A2 )/(A2yA0n)  (X=Y/YY)
t'N(3,6)=218 t* ,(18)=496 t*y(90)=772

t*go/t* 71,55, Ay=1,5, Ap,=0,0699, ¢=0,67

t* g/t =100, A,,=0,011, /4,=0,0038

%3 g/t*,=0,43,1%,=495 86 Y=18

log[t*/t* J=0, m,;=0,33
1 application
f range
%=1

log(AY/AY,) LABJNDuS relative
AYIAY tristimulus value difference
u Yoe=Yw  nc=100,

t*LaBINDUB=IN(A 1n+A2nY)/(A2rAon)  (Ynd/100<Y<=Y, ()
t* | ABINDUB=IN(A 1AL (A Ao (X=YTY)
AY/dY =(AqntA2X)(A1ntAgy)
dYoo/dY,=4,43, Ay=1,5, Ay, =0,0699, ¢=0,67
dY;g/dY,=1,00, A ,=0,011, A.=0,0038
dY3 ¢dY,=0,31, Y,=18, dY=7,12 4

t*,=496 d 12 dY,,/‘:u_:(l '_1_06_7"‘

application
nge

=1
Xw=5

CEB80-4A

log [(AY/Y) | (AYIY),] LABJNDuUS relative

tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc

t*LaBINDUs=IN(A 1n+A20Y)/(A2nAon)  (Ynd/100<Y<=Y, ()
tLaganDus=IN(A1ntA2X)/(A2iAon) - (X=Y7Yy)
@YYV, =IA 10t AaX)/Xull (A 1n+Agy)
(dY/Yhg/(dY/Y)-.88, Ay=1,5, Ay =0,0699, G=0,67
(dY/Y)g/(dY/Y)=1.00, . <0011, ,=0,0038
(AVIYy g(dYV)=1,53 ;=18 dY=0,12
v

log[(dY/Y(dY/Y),]=0, mu=—0,13. 5 o
t*,=496 dY,=0,12 dY,/Y,=0,0067 ?g’,ﬁ’é‘ga"m
Ix,=1
Xn=0,2 Xw=5

CEBB80-6A

log [(Y/AY) I (YIAY),] LABJINDuS relative
tistimulus value contrast
Ci/Cry=(YIAY)/(YIAY), Yoe=Yw  nc=100
t*LaganDus=IN(A1ntA2Y)(A2rA0n)  (Yad/100<Y<=Yyo)
tLaganDus=IN(A1ntA2X) (A2iAon) - (X=Y7Yy)
(YIYY(YIY) =X (At AN (A 15+A2y)
(YIAY)o/(Y/dY)=1,12, Ay=1,5, Ap,=0,0699, =0,67
(Y/dY)g/(Y/dY}=1,00, A=0,011, A4,=0,0038
(Y/dY}, f(Y/dY)=0,64 Y,=18, dY=0,12

application
range

LABJNDuS triangle lightness T*
Yoc=L*w - nc=100,

T* LaganDus=IN(A 10+ Ao/ (AoAon)  (Yad200<Y<=Y,)
T aganbus=INA 1+ A (AsAon)  (x=Y1Y,)
T*N(3,6)=218,T*(18)=496,T*\(90)=772
log[T*/T* ]=0, m,=0,33
L* =49, T*,=496
. 1
ey i nconh o
18=495,86, iy , A=0, -
T*36=218,081%; 4 .5,35 Y=181 ?al\ar%lganon
1
Ly =1
2Xn=0,2 TXw=5

CEB80-1A

log(AY) LABINDUS
AY tristimulus value difference
Yoc=L*w - nc=100,
T aganDus=IN(A1n+AnY)(A2nAgn)  (Ya/100<Y<=Yyo)
T*LaBanDus=IN(A1n+A2X)/(AuAon) - (X=Y1Y)
dY=Agn(A17+A20Y)=Agn(A1ntAsX)  X=YTY,
Aon,pes=1,5, Ao a=1,0, see CIE 230:2019
E
'?
T*,=496 dY,=0,12 dY,/Y,=0,03F +
~ 5
OIR=BE7 R 1, - 008 ¢=0,6% = = = =
dY1g=0,12, A =0.02 ,2;:0'0038 a{;)#llgatlon
dY 620,03 =18, 0Y=0,12 g

XN=0,2
CEB80-3A
log AY/Y) LABJINDUS
_ tristimulus value sensitivity
SEERY) Yocml*w © nc=l
T*LABINDus=IN(A 10+ A2nY)/(A2nA0n)  (Ynd/100<Y<=Yno)
T*LaBaNDus=IN(A 1+t A2)/(A2uAon) - (X=YTYy)
AYIN=A A1+ A Y)Y =Agn (A1t Ag )Y
(dY/Y}g=0,0080, Ay=1,5, A,=0,0699, ¢=0,67
(dY/Y)g=0,0057, A,=0,011, A,=0,0038
(dY/Y} =0,0105 =18, dY=0,12

CEB80-5A

log (Y/AY) LABJINDu8

tristimulus value contrast
G Yol W =100

nc’

T aganpus =IN(A1n+AnY)(A2nAon)  (Ya/100<Y<=Yyo)
T* L aganpus=IN(A1n+tA2X)/ (A Aon)  (X=Y1Yy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]
(Y/dY)=166,14, Ay=15, Ay=0,0699, G=0,67
(Y/dY)g=147.53, A=0,011, A4,~0,0038
(Y/dY} =94,56 Y,=18 dY=0,12
T* u=49@2’bi\7u=0,12 \L#u/dvu:¥47
-
log(Y/dY)=2,16 m,=0,13 +-=~"
-

1

1

1 application
1 range
1%,=1

Pw=5

CEB80-7A
CEB81-7N

THT* LABJNDuS relative triangle lightness T*/T*
THT*, Yoc=L*w - nc=100,

T*Laganbus =IN(A1ntAnY)(AnAon)  (Ya/100<Y<=Yyo)
T*Laganpus=IN(A17tA2X)/ (A2iAon) - (X=Y1Yy)
T*n(3.6)=218,T*,(18)=496 T*y(90)=772

Ty T*,=L,55, Ay=1,5, A5,=0,0699, G=0,67

T g/T*,=1,00, A=0,011, A,=0,0038

T*3 ¢T*,=0,43,T%=495,86 Y;=18

log[T*/T*,]=0, m,;=0,33
1 application
f range
%=1

CEB80-2A

log(AY/AY,) LABJNDuS relative
AYIAY tristimulus value difference
u Yo=L*w -~ ne=100,

T*LABINDUS =IN(A 10t A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)

T*LABINDUS =IN(A 1ntA2) (A2 Pon)  (X=YTYy)

dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=1,5, Ap=0,0699, ¢=0,67
dY,g/dY,=1,00, A=0,011, A,~0,0038
dYs,gdY,=0,31 Y, =18, dY=0,12 +

/.

CEB80-4A

log [(AY/Y) | (AYIY),] LABJNDuUS relative

tistimulus value sensitivity
SISU=OYNIAYIY), oo e YEHE TS

nc’
T*LABINDUS =IN(A 1ntA2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDuS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(@Y/Y}of(dY/Y=0,88, Ay=1,5, Ay, =0,0699, ¢=0,67
(@YY )Y(dY/Y )2 20, Ar=0.011, A4, =0,0038

T
log[(dY/YY(dY/Y),]=0, m/=-0,13 .
T+,=496 dY,=0,12 dY,/Y,=0,0067, ?gﬁé‘gaﬂon
Ix=1
XNn=0,2 Xw=5

CEBB80-6A

log [(Y/AY) I (YIAY),] LABJNDuS relative
tistimulus value contrast
ColCoy=(YIVIYIAY), > 21w, ° 2 2100
T*LABINDUS =IN(A 1n+A2nY)/(A2nAon)  (Ynd/100<Y<=Yoo)
T*LABINDUS =IN(A 1ntA2) (A2 Aon)  (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIAYpo/(YIAY}=1,12, Ay=1,5, Ay =0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A,=0,011, A;=0,0038
(Y/dY}, f(Y/dY)=0,64 Y,=18, dY=0,12
log[(Y/dY)(Y/dY),]=0, m=0,13

application
range

CEB80-8A

TUB-test chart CEB8; LABINDU&*(Y) & T*(Y), Yac=(Y&L*) wrcBne %=0,66, with more data
Absolute and relative lightness, sensitivity and contragt=2A5, An=0,011, A,=0,0038, A,=0,06
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